EARAROBEEIERT — 2 N— IBISH —F

20185128280 (&) SHEIFR#HIH

=55 10005T ¥5%3%E (BS) U5l =8 [l [ immm) — | 5 00 1w
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 3/ 79/75va [B] f3 | BUELE 1:(2_4).8 -1 |36.8|101.4] 3 | 434 g%ﬁgﬁ(%i)
R:IfY>T75yva Bih—%y hETZX 42) BHHE
2l5/10/® by TZ> 2 0| B Rl (11:215/48 911 [36.3| 9.7 | 9 tg? gﬁz%?}ﬁ)
R:TTyIaAK B:TYaAvLL— B2 JE—
3159 T 50—H— 3 ;Z%Eg%uﬁ 1(7251:? 14-13 | 36.0] 99.9 | 2 500 ﬁ;ﬁ%é (FH)
Qi rSEL K BILTLAR 18 | 1 ragig
417l13 77V—1L7> [B] 3 | T 20 54 |%6.7| 9.6 | 12 | 4% | AR (RR)
QAL LINT Ry IR BiH I IS 02| s
sHY 0 @7 4—TZ—EL o4 | BERS 12 14-13 | 36.1]98.9 | 8 | 454 EEEZEE €39
L:Hv—N—FK B:7 4-E—-F2Z (+6) Wi Ei
6l1lo|xtyvzyr— Ho4 f?l_léféﬁak 17255; 3-4 36.9| 98.6 | 7 | 484 ;Jt\%gii\\ (i)
RivavFLHLT BIN—S w2y #2) | wm e
7 7| N=27541 # o3 556%0*2 1(7251:>2 12-11 | 36.3] 97.9 | 10 | 49 ﬁg?ﬁj??u
QiF L RF U B0 KIO%1 b ) lpstas J-zenx
glglis| *1¥amzsq i3 zg_ﬂga: 1(/7251:) 16-16 | 36.0 | 98.0 | 1 (:?g) i‘itﬁ?&% EX )
Y92G5 B:A4 33D pNCEie ]
. gl %o # 5 J5I7I_E(3)i§5f& 1725t)3 98 | 36.6| 9.8 | 5 :3_224) iﬁg;ﬁf;{ij )
L:a4F% 0 MY B:ax/3x—XAFK BRES  f2KEB
1wl 6| vrndgy g it 6 ;’%ﬁi (11:215/.8 5-6 37.1| 94.8 | 13 | 476 :j;él;%ﬁ (ER)
RSO BV HENTTRAA H0) | sospsg
11816/ ® T2 =71 =TI # 5 | HrR (11:23&3/.‘3 56 |37.3]91.9 | 14 (4334) z;gglgg (E8)
R:772UILT7 B:TVLERTILY Rl =X
7 > WEESE A B ie 7| Eadl 1258 8-8 |37.3| 91.9 | 15 | 486 ggéﬁg (FE®)
RUFTLHALER BiH—U—Ew R O | @
130011 2H /DT> o4 | BERE (11;216/.20) 98 |37.4|90.1 | 6 | 474 i/@ﬁfg (R
LI INATA—H— BaA=—SvAF— (-8) BRESHUHBE A/ T7—L
N R # 3 éﬁfﬁéi (11:216/.42) 22 |38.1|87.3| 4 (4_628) ﬁg;&?ié;;)
A:Violence £ :The Calypso Myth Blackstone Farm L
15/ 1] 1 |V KILT 1 —=F #5 | BB 1<72?:>2 [ it Rl B B *$§%§;§$g")fﬁfx~l:7}'
QYLK SURIR BTA—UT 08 | s
N NG PPEDES H 6 gg?%ﬁé?& 1:(216).4 32 |38.3|854 | 16 | 504 ;Jt;g;um (®®)
A:Pulpit £#:Patti 0’Rahy Gl Lester Kwok & Dr.
@ 71 L
Env 49.2-36.8
AR &1L [ 12.5-11.1-12.0-12.4-12.0-12.2-12.6
@ 11— S —EBlIEfL
|2=3F=
230—7F—
dal=3r= 3,5(2,14) (6,13,16)4(8,11,10) (1,7) (9,12)15
40—+ — 3(5,14) (2,13) (6,16) (4,8,11) (7,10) (1,9,12)15
[ N3
B 3 900M | | 71 K 3-10 2,710 | | # &= 2-5 2,430 | | 348 | 3-9-10 16,990/
8 B 3 290/ 3-9 1,120 B = 3-10 9,340M B 3-10-9 140,380
10 440/ 9-10 1,500 B H 3-10 19,910
9 190

ABICOVWTRDTEEERROODE. TR LIV,




